= > O
M & 0 & AF Y E A A
011E T 20ilar LBHgH IHI M ~ MBI
SA BHMEHY
& NEIMsH
el XA 2435 (e & @
- _ _ ME
A -3 -H2A(SH) - HEAMY - BES O AFH @,;OH Hos
Z &= 42,141,330 30, 145,800 11,995,530
= 19,114,800
Z 15,048,000
= 50,000
< 7,928,530
NAHHSS 15,317,890 13,572,440 1,745,450
= 13,800
Z 12,848,000
< 2,456,090
NSAHM 243t 233,950 245,500 A11,550
I, D2, 0UKX RN 2= 138,950 125,500 13,450
201 LErR Y| 93,000 73,000 20,000
01 AF22eldl 88,000 68,000 20,000
OAHIXF HHAQRAE 2 S 68,000
OSY ITYB-TAIRA AY2 20,000
03 A2 HI 5,000 5,000 0
=g NFFMEds 298 S 5,000
202 OfHl 3,000 3,000 0
01 2LH0it] 3,000 3,000 0
OAMEMAD =X 3,000
203 YR =X 38,950 41,000 A2,050
03 AIRHZETHREXIY 38,950 41,000 A2,050
OXNSABMELSAHER 23,750
OB MM AT 11,400
OZHEHAL2FZ 3,800
301 LetEA2 4,000 8,500 4,500
10 HAIAHIBAS 4,000 8,500 A4,500
OZ M2 SAIAHI A2 4,000
ZHYHNLSS 95,000 120,000 A25,000
307 QI2+0|& 95,000 120,000 A25,000
02 QIZHNEX 80,000 100,000 A20,000
OZIIZEN+=E 2 AsLINL 80,000
04 QIFSHALE X 15,000 20,000 A5,000
OZHzY E2 2 AHRFE 10,000
OE<dNETY 5,000
SSAMY YN U XA 13,333,940 10,826,940 2,507,000
= 13,800
Z 12,848,000
[ 472,140
HSAFAE S 10,332,000 9,301,000 1,031,000
Z 10,332,000




2N PR
o NAANSH

Sol: RENY T Y PEINM (Srel: &2
_ _ _ Muo
SN FB - S2A(3) - MEAY - BES 0] & 08 i HRE2
403 XtXISHHISKH= 0l & 10,332,000 9,301,000 1,031,000
2 10,332,000
01 RXSHX=E X 10,332,000 9,301,000 1,031,000
OHEAZ Alss st 10,332,000
2 10,332,000
MEANT LSS N2 400,000 400,000 0
403 XHXISHHIS KH= 0l & 400,000 400,000 0
01 RXSHK=EE 400,000 400,000 0
OMSABALBUS L 2AWSATZXS
1,000,000, 0002 *40% 400,000
HEANT 22 X 40,000 45,000 5,000
307 QI2H0IH 40,000 35,000 5,000
02 QAN E 30,000 0 30,000
OFEAE DAURIER 30,000
04 DIISANS X 10,000 35,000 25,000
OHEANZ 2os X 10,000
SIIOIE L BRAHHEAN = 29,140 29,140 0
201 Yere | 7,700 7,700 0
01 AtR2elt| 7,700 7,700 0
ORIZUA 248 7,700
206 T2 H 2,000 2,000 0
01 MHEl 2,000 2,000 0
OAZBAINE NEPY 2,000
308 XHXl EHHIS0IH 19,440 19,440 0
01 RXESHILSES 19,440 19,440 0
O2IEA 2UHRY 29 19,440
BEHUT AHXESHE 29 16,800 16,800 0
= 3,800
= 3,000
301 LBIR AR 3,000 16,800 13,800
12 JIEtR A2 3,000 16,800 13,800
OZHUCT AHINESHE NA22T M1
o 3,000
307 QI2H0IH 13,800 0 13,800
= 13,800
02 QIHANBE 13,800 0 13,800
OZHHE AHKNESHH 2 13,800
= 3,800
ZAREDSCHSRHE A 2,516,000 1,035,000 1,481,000
2 2,516,000




2N PR
o NAANSH

S9l: REAY B L PIHA (B9 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES (il & OH Ofl At ot HwsZ
403 REXISHSKHZO0|H 2,516,000 1,035,000 1,481,000
= 2,516,000
01 XIXICHH X2 X 2,516,000 1,035,000 1,481,000
OZAREZSCHESRMUE A 2,516,000
3 2,516,000
SHBHAR P HL 1,750,000 2,500,000 A750,000
HHAMNRTAE 29 N 1,750,000 2,500,000 A750,000
308 X+XI IS O & 1,750,000 2,500,000 A750,000
05 XHXICHHI2H2 &2 1,750,000 2,500,000 A750,000
OELEPIEEE:
3,500,000, 0002 *50% 1,750,000
DEOH 14,477,880 6,853,300 7,624,580
=2 7,521,000
3 2,200,000
= 50,000
= 4,706,880
DEST L AHE 1,275,500 2,165,300 889,800
=2 370,000
= 50,000
& 855,500
22N=NNE 29 48,000 48,000 0
307 212H0| & 48,000 48,000 0
05 DI2tSIEr2 48,000 48,000 0
O22X=X2 < 48,000
RIS 4194 XX 21 & 24 Al 2 337,500 888,300 550,800
= 300,000
= 37,500
308 X+XI IS Ol & 337,500 888,300 550,800
=2 300,000
= 37,500
01 MXSHAZHEES 337,500 888,300 550,800
OS0{0l XIHAQR ZeiEd
375,000, 0002 *90% 337,500
=2 300,000
= 37,500
Z22RAY 50,000 96,000 46,000
= 50,000
101 o121 50,000 96,000 46,000
s 50,000
04 JIAH2RRSES 50,000 96,000 46,000
o011 45,200
& 45,200
o282 S JIE 4,800
= 4,800




SN BHBD

M3 D80
CHol: DREX Y CAHE (649l &2
_ _ _ Muo
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE
CANE 2 DR X 390,000 683,000 293,000
= 70,000
< 320,000
307 12+0IH 390,000 683,000 293,000
= 70,000
< 320,000
02 BIABNBE 270,000 555,000 285,000
OL-SX8 o BHI2R X2 55,000
O-sagL2d 50,000
OL-AMRIFIIEHY Beig s st 140,000
= 70,000
< 70,000
OFeierasl Hal X2 25,000
04 SIZHEALE X 120,000 128,000 8,000
O2=2XY Al 13,000
OLAtsHEl SH0ISCHA TS 7,000
OBEYLZT 2508 20,000
OL A BH0HY 8 AL 80,000
SIS N 450,000 450,000 0
307 212H0I 450,000 450,000 0
05 BI2reIEta 450,000 450,000 0
OJISZIIS Nos o H=20H5I& I} 450,000
ARl HE OB 2E 13,202,380 4,688,000 8,514,380
= 7,151,000
=l 2,200,000
= 3,851,380
QRO2ZR X 20,000 20,000 0
308 XX EHH SOl 20,000 20,000 0
0 IXCSHMBLEES 20,000 20,000 0
0222 NNME 2
10,000, 000! *2H A 20,000
Fomgolme 25 K 350,000 25,000 325,000
307 12+0IH 350,000 0 350,000
05 BI2HPIEs 350,000 0 350,000
OBLUNISEHEH N 350,000
UEH IS0y 2,200,000 0 2,200,000
= 1,800,000
= 400,000
307 12+0IH 2,200,000 0 2,200,000
= 1,800,000
= 400,000
02 PIHAASBE 2,200,000 0 2,200,000




SN MM
ZE: D8E

el 2Xtel 3E I8 25

S H . B (3 H) o - B2 Ao ﬁiﬁgf; 2t
OXdorss ol (401 AHZ) 2,200,000
= 1,800,000
= 400,000
Xeolg ns8xz2 Xd 2,365,000 0
Z 2,200,000
& 165,000
308 MXIEHHSOIH 2,365,000 0
& 2,200,000
& 165,000
01 AXEMIMNEEZ 2,365,000 0
OoxNegg naEgEx=a 2,365,000
2 2,200,000
== 165,000
NEZ2SH LXel At 6,936,800 6,936,800
= 5,351,000
& 1,585,800
201 Br23 | 45,000 45,000
= 45,000
01 AtR2tell 45,000 45,000
OXNEBSH LAy =& 45,000
= 45,000
202 O4d| 20,000 20,000
= 20,000
01 2| 20,000 20,000
OXN G SSH LR A & 20,000
= 20,000
308 AHXIEHHI SOl 6,871,800 6,871,800
= 5,286,000
== 1,585,800
01 MIXSHHEBNBEE= 6,871,800 6,871,800
OXNEBSH L Xtel & 6,871,800
= 5,286,000
& 1,585,800
INEEIRSIPIRe =P 1,330,580 1,230,580
307 2I12t0|A 50,000 50,000
02 DIZ2tAAME X 50,000 50,000
OFEY AMEDIY AJ ZHEE 50,000
308 XMXISHHSOIN 1,280,580 1,280,580
01 AXESMMINEBEZ2 1,280,580 1,280,580
OosYd AMIHIY X
4,268,600, 0002 *30% 1,280,580
X =20t & sy 11,812,500 2,625,500
= 11,580,000
& 232,500

o




SN MM
LRV EPNIRS= -2 RS IETE S
Sl OILXINE % +20F =

SN EE - ER(EN) - NRAY - BaS 0il &t o e HlRE2

ORI & =gotd =g 11,812,500 9,187,000 2,625,500
= 11,580,000
< 232,500

HuUX 88 & W= 100,000 90,000 10,000
= 100,000

201 LetEI| 64,000 68,400 24,400
= 64,000

01 AtE222|H] 64,000 68,400 24,400
OllUHX €23 Agu=s 6,000
2 6,000
OoluXEs s ¥ g8 58,000
= 58,000

202 O4Hl 20,000 12,000 8,000
= 20,000

01 WY 5,000 0 5,000
OXNGUHR 2= 5,000
= 5,000

03 =20 15,000 12,000 3,000
OXNGUUHX €3S oiedH=s 15,000
= 15,000

308 XXIHHSOIH 16,000 9,600 6,400
= 16,000

01 XM EXS 16,000 9,600 6,400
OuuXl 24322 A=W (16IHAIT) 16,000
= 16,000

UIIEPN; Jgt =4 45,000 152,000 A 107,000

201 et 5,000 5,000 0

01 AtS22iHl 5,000 5,000 0
OJtretdEES M A 4,000
O&ARNE SELAM ALY 1,000

207 HFIHEHI 20,000 20,000 0

01 22E S| 20,000 20,000 0
OEAItA Z2S5HIE A4FAA 20,000

307 212t01& 20,000 50,000 230,000

04 CIZHAHAIE X 20,000 50,000 30,000
OFR-4% slstZd 2423 20,000

X1 0fl LA KT A 9,605,000 8,785,000 820,000
= 9,605,000

403 XXM S0 9,605,000 8,785,000 820,000
= 9,605,000

01 RXSMA2E = 9,605,000 8,785,000 820,000
OLED =¥ S(ASS)WH(6MAIZ) 4,282,000




fA: ZHERDY

o UK +3F L NS
SRl ORI o AZE = (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O AF o8 il b o bRz
= 4,282,000
ODEE H2STH(GHAR) 3,439,000
2 3,439,000
OBZO0IZ SIEBITLL(2HAIZ) 1,827,000
2 1,827,000
OSZTES o HIIHASER () 57,000
2 57,000
SVESPIEEVE 2,062,500 160,000 1,902,500
2 1,875,000
= 187,500
403 RHXISHH SR =0 2,062,500 160,000 1,902,500
2 1,875,000
= 187,500
01 KXISHA X=X 2,062,500 160,000 1,902,500
Os0& ®JI33 2,500,000,000% B2, 5% 2,062,500
2 1,875,000
= 187,500
ZOHe LR FEAY =X 385,000 385,000 0
DOl LR HEAY =X 385,000 385,000 0
Dol LR HEAY =X 385,000 385,000 0
307 2I2H0IF 385,000 385,000 0
VIEI=PNEES 370,000 370,000 0
OZ0fe! 2Xt2l &5 SNUERAD 29 370,000
04 DIASAIE 15,000 15,000 0
OZ04e! xHBetersl I 15,000
HHS AL (ZMB DY) 148,060 148,060 0
[T 148,060 148,060 0
RN 148,060 148,060 0
201 Lpr2 | 65,000 65,000 0
01 ALR eIt 64,000 64,000 0
OZHBHUALET 64,000
02 IT2YH| 1,000 1,000 0
02223 % XA S 1,000
202 01t 71,780 71,780 0
01 =2Uioibl 71,780 71,780 0
OZHBHUALET 71,780
203 HRFY| 1,280 1,280 0
01 IR YYR =AY 6,600 6,600 0
o=% 6,600
04 ENSYYARETY| 4,680 4,680 0
SEVE-Ehn 4,680




